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$WLN� 1LODP� 6DUL� � � �� $QDOLVLV� 3HQHQWXDQ� +DUJD� 3RNRN� 3URGXNVL� .LSDQJ�
.DFDQJ� SDGD� 8VDKD� .LSDQJ� .FDQJ� +�'DXG�
3DULDPDQ

3HPELPELQJ �� 0LD�$QJHOLQD�6HWLDZDQ�6�(�0�6L

+DUJD� SRNRN� SURGXN� PHUXSDNDQ� KDVLO� DNKLU� GDUL� SHQHQWXDQ� KDUJD� VXDWX�
SURGXN \DQJ�GLKDVLONDQ�VXDWX�SHUXVDKDDQ�LQGXVWUL��8VDKD�.LSDQJ�.DFDQJ�+�'DXG�
VHEDJDL� REMHN� SHQHOLWLDQ� PHUXSDNDQ� SHUXVDKDDQ� \DQJ� EHUJHUDN� GL� ELGDQJ�
PDQXIDNWXU� \DQJ� PHQJKDVLONDQ� RXWSXW� NLSDQJ� NDFDQJ�� 7XMXDQ� WXJDV� DNKLU� LQL�
XQWXN� PHQJDQDOLVD� EDJDLPDQD� SHQHQWXDQ� +33 SDGD� 8VDKD� .LSDQJ� .DFDQJ�
+�'DXG�3DULDPDQ�

3HQHOLWLDQ�LQL�DGDODK�SHQHOLWLDQ�REVHUYDVL�NDUHQD�SHQHOLWLDQ�LQL�GLPXODL�GDUL�
PHQHOLWL� ODQJVXQJ��PHQJDZDVL� VHQGLUL� REMHN� \DQJ� DNDQ� GLWHOLWL� VHKLQJJD� SHQHOLWL�
GDSDW� PHOLKDW� VHQGLUL� VHFDUD� ODQJVXQJ� NHDGDDQ� OLQJNXQJDQ� NHUMD� \DQJ� GLWHOLWL��
'HQJDQ� PHZDZDQFDUDL� SLKDN�SLKDN� \DQJ� GDSDW� PHPEDQWX� SHQXOLV� GDODP�
PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL��%HUGDVDUNDQ�KDVLO�\DQJ�GLSHUROHK�WHUVHEXW�SHQHOLWL�
GDSDW�PHPEHULNDQ�NHVLPSXODQ�PHQJHQDL�SHQHQWXDQ�KDUJD�SRNRN�SURGXNVL�NLSDQJ�
NDFDQJ�SDGD�8VDKD�.LSDQJ�.DFDQJ�+�'DXG�3DULDPDQ�

+DVLO�SHQHOLWLDQ�PHQXQMXNNDQ�EDKZD�GDODP�SHQHQWXDQ�KDUJD�SRNRN�NLSDQJ�
NDFDQJ���SHUXVDKDDQ�WLGDN�PHQJJXQDNDQ�PHWRGH�SHQHQWXDQ�KDUJD�SRNRN�SURGXNVL�
GHQJDQ� WHSDW�� +DUJD� SRNRN� SURGXNVL� \DQJ� GLWHQWXNDQ� ROHK� SHUXVDKDDQ� EHUEHGD�
GHQJDQ� SHQHQWXDQ� KDUJD� SRNRN� EHUGDVDUNDQ�PHWRGH� KDUJD� SRNRN� SURVHV��+DUJD�
SRNRN� SURGXNVL� \DQJ� GLGDSDWNDQ� ROHK� SHUXVDKDDQ� VHEHVDU� 5S�� �������� SHU�
EXQJNXV�GDQ�EHUGDVDUNDQ�SHUKLWXQJDQ�NHPEDOL�GDUL�GDWD�WHUVHEXW��GLKDVLONDQ�KDUJD�
SRNRN�SURGXNVL�5S���������� SHUEXQJNXV��$GDQ\D�SHUEHGDDQ�\DQJ�VLJQLILNDQ�GDUL�
MXPODK�\DQJ�GLGDSWNDQ�GLVHEDENDQ�NDUHQD�GDODP�SHUKLWXQJDQ�KDUJD�SRNRN�GHQJDQ�
PHWRGH�KDUJD�SRNR�SURVHV�VHPXD�ELD\D�GLULQFL�GHQJDQ�VDQJDW�MHODV�


